Beam April 2022
rotated setup
run 173
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MPV from fit vs channel Deviation MPV from fit

hmpv

Entries 59
Mean 122.8
Std Dev  10.45
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PDO of ch17
12000 ha_ch17
B Entries 89063
10000/— Mean 188.7
B Std Dev 133.6
L %2/ ndf 1230/10
8000~ Constant 6.341e+04 + 3.3546+02
i MPV 125.140.2
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PDO of ch48
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16000[— A Entries 65636
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14000 Std Dev 1435
- x2 / ndf 1.054e+04 /10
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PDO of ch19
ha_ch19
: Entries 89478
- Mean 184
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PDO of ch56
— ha_ch56
10000} Entries 68882
= Mean 165.7
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- %2/ ndf 207.8/8
8000/ Constant 5.65e+04 + 3.54¢+02
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* Bad channels: 17, 19, 56 look like noisy, 48 — ADC problem

PDO of ch21

ha_ch21
B Entries 89979
12000(— Mean 169.6
B Std Dev 111.8
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Amplitude correction

* Mean A per time bin fitted with pol5

* Next iteration A normalized by

pol5(ts). And scaled to MPV of
noncorrected A.
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§_ +* pt ~1.266 +0.054
= p2 -0.0183 +0.0045
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= p4 3.454¢-05 + 5.835¢-06
= p5 3.111e-07 +£9.068e-08
it

E PR I T TR S S NN ST SR SR [N T SR [N SO S SR NN S S

60 ~40 20 0 20 40 60
Ts = Tggor NS

corrected a vs t

x2/ndf=196.9/79
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- po 176.2+0.9
- p1 -0.02926 + 0.07244
= p2 0.001849 +0.005033
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p3  3.233e-05+ 1.308e-04
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PDO of ch23 straw 23: corrected a

12000 ha_ch23 14000 h_a23_corr
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Distribution became more narrow



